Question ;E/slger E(E:’;:fgge Z;oce;g:)f Xl;s,vzslg)rrect? Score Scoring table
) ) o
1 Confidence Score for correct Score for incorrect
answers answers
2 50 % 0 0
3 60 % +2 -3
4 70 % +5 -8
5 80 % +7 -13
6 90 % +9 -23
7 99 % +10 -55
8 Scoring copied from and simplified: https://acritch.com/credence-game/
9
10
11
12 Your calibration
B Confidence N® correct N° total Correct/Total ratio*
14 answers answers
15 50 %
16 60 %
17 70 %
18 80 %
19 90 %
20 99 %

* If you are perfectly calibrated it will be equal to the confidence
Total score:
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